Scanned with CamScanner




Scanned with CamScanner




Scanned with CamScanner




Q@:\Qkh violates the Auf-Bay
5 L []H IIII[‘D O

Which is not eorrect representation of

A E=hy

< N\ <
C. E=hev % D E=hc A\\Q
Q.43 - Which is not basic postulate oI Mr s atomic model
A. Electron Revolve only iirthdse orbits having a fixed angufar 0
B. Electron Revolves i ong'of the circular orbits oumd&:!:}} ucleus 8(\

C. Energy is emitiéd o absorbed only when clcctmlq&ﬁp’ from one orbit to another ~

D. Electron always reriain in fixed orbit and does not changeerbit even by absorption of
Q.44 The nature of the positive rays depend on 3

A. The nature of the electrode “. B. The nature of the dlu@e

C. Themature of the residual gas {(D+All of the above v C
Q.45  Which of the following wb-lhell dlgjnol exist Q

AVef - B. 5p C ) Q\

- N
C.3d D. 3f % N

Q.46  An electron in a hydrogen atom makes a transition from an energy level E; to one with
energy E; and simultaneously emits a photon. The wavelength of the emitted plohe

he

-z E E1
. Q
oE,-E)
Q. 47 In the main postulates of
2 hydrogen atom is given by
@t

D. hve , ‘QQ‘

emhtedornlnorbedbya dy in form of quanta. This s
’s quantum theory B. Bohr atomic V‘
atomic model %\ D. Pauli

of Planck’s constant : -
\Q B. J.Su é _
: i atom will have qllﬂ!-\rc values.
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